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HIGH POLYMER CHEMISTRY

yo7e7 A i AT G Hea d 3 |

There are three sections A, B and C in the paper.

QFIT T A F7 T 1 % G 10 9T & IR G | I9% 57T T 3% F 8 0
G 10 977 TGS FFR F T F & |

Answer all the 10 parts of the question No. 1 in section A. Each part carries
one mark and all 10 parts have objective type questions.

QT & & 8 T 8 @ 581 6 vl & IR ST | IAF F9T 3 3% HTE TT
FTHT 5 19/50 FIsg] B IR e |

Answer any 6 questions out of the 8 questions in section B. Each question
carries 3 marks and to be answered within 5 lines/50 words.

7T @ & 6 T 7 @ lesT 4 T & I T | I&F Fv7 8 3HF B 8 Tq
377 15 &7137/150 Y] 7 IR Morw |

Answer any 4 questions out of the 6 questions in section C. Each question
carries 8 marks and to be answered within 15 lines/150 words.

Y% QT & Y} T 1 B HHIR T GrY 5 Hifid |

Solve all the questions of a section consecutively together.
a1 a3 & 31 817 @) Rt 7 S srgae S A 8
Only English version is valid in case of difference in both the languages.
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SECTION — A

= aefieRtor 1 ‘Rt’ 29T
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ST (b)  FhfETE o
CEEREE (d) A RETA
rate equation ‘Rt’ represents

Propagation rate (b) Initiation rate
Termination rate (d) None of these
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HETgTh THIRT | 1 Gl g
(a) YUdd (b) ek AU
(c) TsraTcheRar SuTa (d) 378 GBI T
In copolymer equation ‘r’ represents
(a) density (b) Bulk ratio
(c) reactivity ratio (d) None of these
ATk SgerhIehtul B ST fereeh g BT 2 7
(a) HIE-FRURA (b) HISIEH T
(c) TH AT (d) & 8 RIS T
In Anioinic polymerisation propagation is carried out by :
(a) Carbanion (b) Carbonium lon
(c) Free radical (d) None of these
EEERACRIPERCIGE R LRI
(a) =R (b) wedr? |
(c) IS =R &l ULl | (d) 37H U B T
By the addition of solvent in polymer, gel effect :
(a) reduces (b) increases
(¢) unchanged (d) None of these
< TEHL HT TgARIHT § Hd BT B
(@) TehAT (b) HH B
(c) =T STeT (d) T P TE
Function of chain transfer in polymerisation is :
(a) tostop (b) toreduce
(¢) unchanged (d) None of these
Hiferm a9 o g 2
(a) UiARISSITH (b) STelTRIEAY=
(c) ST gl (d) SHw A T HIE T
At ceiling temperature it happens :
(a) Polymerisation (b) Depolymerisation
(c) Both the above (d) None of above
TR g91Td &
(a) 39 TEAH (b) %9 9gTH
() T (a) 3 (b) ) THIPETH
Oligomer represents
(a) Solid polymer (b) Liquid polymer

(¢) Both(a) & (b) (d) None of these
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(viii) erHTEE Tl & —
(a) U4 (b) e
(c) diua. (d) dius.
Thermoset polymer is —
(a) P.P. (b) P.V.C.
(c) PS. (d P.F.
(ix) TEHIEAMTSZISE H UTS w4 o & &
(@ 2 (b) 1
(¢ 3 (d) 4
The number of t bonds in acrylonitrile is :
(@ 2 (b) 1
(© 3 (d 4
(x) TETEAh % HAGN Hl THH TaAT AT 8 —
(a) ToRaTCHRAl 3TUTd (b) AT U
(c) A (d)y 3AFgdq
Copolymer behaviour is represented by —
(a) Reactivity ratio (b) Molecular weight
(c) Density (d) Volume (1x10)
Qo — &t
SECTION - B
2. WIEHH Y @ TgAehIT Sl HHEEY |
Explain chain polymerisation of styrene. 3
3. Hmr=d qIHE 1 STk § HE Sarsy |
State the importance of ceiling temperature in polymerisation. 3)
4. w1 e s = E ¢
What are free radical initiators ? 3
5. TspaTcHehaT 31T | 31T 1 T § ?
What do you understand by reactivity ratio ? _ 3
6. SEfea = TOR AT R ?
What is degradative chain transfer ? 3)
7. HeRHTIE! 1 HEw qaTsd |
State the importance of functionality. (k)]

. P.T.O.
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ST g~ SgeTehl i THST |

Explain Block copolymers. A3
TECTH I <hl 3T SHITE BT T TG & 7
What is the importance of Average degree of polymerisation ? 3)
Y — ot
SECTION -C

TheTeh o STNEeH % forfir= alieh oo € 7 32 3eTetwr wfed awsisy |

What are the different modes of initiation of monomer ? Explain them with examples. (8)

Ferafien = SgeTehientul o foru Tifcsht &t st Fefentor yTed SHIfTT |

Derive kinetic rate expression for cationic chain polymerisation. 3)

Sfefoer ot RerSem © 3119 991 g0ga 8 7 S0 o1=R aTed |

What do you understand by inhibition & retardation ? State the difference between
them. 6))

O wHflert FT 8 7 39 TRl @ 1 ey eperar 8 7

What is Carother’s equation ? What conclusion is drawn from this equation ? ®)

fOATIeT AR Y HTET o THTSY | $EhT SgeTeh o U O R ITE Uedl 8 ?

Explain structure of Vinyl monomer. What is it’s effect on polymer properties ? 8

frferiaa T aftre feoaforat ferfe :
Write short notes on following :
() @i Sgeh
Living Polymer
(i) T&d: &
Auto acceleration (4+4)



